
1Achievers

1. (a) ‘Commodities and capabilities’ î£z!Ýþîû îû‰þ!ëû“þy £öìœ˜
x›“ÅþÄ ö¢˜Ð

2. þ(b) þ™!Øþ›îöìD ‹!›”yîû# îÄîßþiy !îœ%® £ëû 1953 ¢yöìœÐ
3. (c) !îÙ» îy!’‹Ä ¢‚ßþiy îy çëûyÓÅþ öÝþÆvþ x†Åy˜y£zöì‹Ÿöì̃ îû (WTO)

þ™)îÅ“þ˜ ˜y› !Šéœ GATT (General Agreement on
Tariffs and Trade)Ð 1948 ¢yöìœ ~!Ýþ ßþiy!þ™“þ £öìëû!ŠéœÐ
1995 ¢yöìœ ~!Ýþîû ˜y› þ™!îûî“Åþ˜ „þöìî û çëûyÓÅþ öÝþÆvþ
x†Åy˜y£zöì‹Ÿöì̃ îû ˜y› îûy…y £öìëûöìŠéÐ

4. (d) ‘Cooking to save your life’ î£z!Ýþîû îû‰þ!ëû“þy £öìœ˜
x!¦þ!‹ê îÄy˜y‹Å#Ð

5. (c) ¢Á±!“þ ²Ì•y˜›sþf# ˜öìîûw ö›y”# ò²Ì•y˜›sþf# †îû#î „þœÄy’ x§¬
öëy‹˜yóéôéîû ¢›ëû¢#›y î,!kþ „þöìîû 2028 þ™ëÅhsþ „þîûöìœ˜Ð

6. (a) ò!‹œy!˜ „þ!›!Ýþó }’ îÄîßþiyîû ¢öìD ë%_«Ð
7. (b) !î‹ëû̃ †îû îûyöì‹Äîû ²Ìí› îûy‹î‚Ÿ !Šéœ ¢D›Ð ~£z îûy‹î‚öìŸîû

²Ì!“þÛþy“þy !Šéöìœ˜ ²Ìí› £!îû£îû ~î‚ ²Ìí› î%Eþy îûy£zÐ
8. (b) îûyÜTÉþ™!“þ öoïþ™”# ›%›Å% ¢Á±!“þ ‹Á¿% ç „þyÙÂ#öìîû vþzöìmy•˜ „þîûöìœ˜

250 !›Ýþyîû ”#‡Å ò˜î”%†Åy þ™íó ßþñy£z çëûy„þ ~î‚ òþ™yîÅ“þ#
¦þî˜óéôé~îûÐ

9. (a) ›£Á¿” !î˜ “%þ‡œöì„þîû îûy‹c„þyö ìœ xy†“þ ÷îöì”!Ÿ„þ
þ™!îûîÊy‹„þ !Šéöìœ˜ £zî˜ î“%þ“þyÐ

10. (b) ÷¢ëû” î‚öìŸîû ²Ì!“þÛþy“þy !Šéöìœ˜ !…!‹îû …y˜Ð 1414 ¢yöìœ
~£z ¢yÁËy‹Ä ²Ì!“þ!Ûþ“þ £ëûÐ

11. (a) òöî!Ýþ îy¤‰þyç– öî!Ýþ þ™vþüyçó vþzöì”Äy†öì„þ ¢£öìëy!†“þy „þîûyîû ‹˜Ä
ö„þw#ëû ˜yîû# ç !ŸÖ„þœÄy’ ›sþföì„þîû ¢£öìëy†# £œ „þyœy¢ÅÐ

12. (d) ò!£¢yîûó Ÿ£îû !˜›Åy’ „þöìîû̃  !šþöìîûy‹ Ÿy£ “%þ‡œ„þÐ 1833
!…ÊÞÝþyöì· ~!Ýþ ßþiy!þ™“þ £ëûÐ î“Åþ›yöì̃  ~!Ýþ £!îûëûy˜yëû xî!ßþi“þÐ

13. (c) 2023 !e«öì„þÝþ çëûyÓÅþ öÝþÞÝþ ‰þÄy!Á™ëû̃ !Ÿþ™ x˜%!Ûþ“þ £öìëû!Šéœ
£z‚œÄyöìuþÐ ¦þyîû“þöì„þ þ™îûy!‹“þ „þöìîû ~£z ²Ì!“þöìëy!†“þyëû
‰þÄy!Á™ëû̃  £œ xöìßþTÉ!œëûyÐ

14. (b) þ™yœÅyöì›öìrÝþîû •yîû’y!Ýþ @ùÌ£’ „þîûy £öìëûöìŠé !îÊöìÝþ˜ öíöì„þÐ
15. (d) xy†y›# þ™y¤‰þ îŠéöìîûîû ‹˜Ä vþyîîû £z!uþëûy !œ!›öìÝþöìvþîû x!“þ!îû_«

!vþöìîûQîû !£¢yöìî !˜ë%_« „þîûy £œ ¢%Ÿ#œ ‰þwöì„þÐ

16. (b) îûy‹Ä¢¦þyîû ¢”¢Äöì”îû „þyëÅ„þyöìœîû ö›ëûy” 6 îŠéîûÐ þ™yŸyþ™y!Ÿ
²Ì!“þ 2 îŠéîû xhsþîû îûy‹Ä¢¦þyîû 1/3 ¢”¢Ä xî¢îû @ùÌ£’ „þöìîû̃ Ð

17. (b) ¦þyîû“þ#ëû ¢‚!î•yöì̃ îû 30 ˜‚ •yîûyëû vþzöìÍÔ… îûöìëûöìŠé ¢‚…Äyœ‡%
ö×!’ “þyöì”îû !˜‹ßþº !ŸÇþy ²Ì!“þÛþy˜ !˜öì‹îûy£z ßþiyþ™˜ ç
îûÇþ˜yöìîÇþ’ „þîûöì“þ þ™yîûöìîÐ

18. (d) ¦þyîû“þ#ëû ¢‚!î•yöì̃ îû 22 ̃ ‚ •yîûyëû vþzöìÍÔ… îûöìëûöìŠé x˜Äyëû¦þyöìî

PSC Clerkship Exam. Practice Set – 2023
Answer with Explanation

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

ö@ùÌšþ“þyîû ç xyÝþöì„þîû !îîû&öìkþ ¢‚îûÇþ’›)œ„þ îÄîßþiy ö˜çëûyîû
!î¡ìëû!ÝþÐ

19. (a) xy„þ!ßþ¿„þ “þ£!îœ öíöì„þ xy†y› Ýþy„þy ö˜çëûyîû Çþ›“þy xyöìŠé
îûyÜTÉþ™!“þîûÐ

20. (a) †,£ ç ˜†öìîûy§¬ëû˜ ›sþf„þ ò˜ÄyŸ˜yœ xyîÅy˜ œy£z¦þ!œývþ
!›Ÿ˜óéôé~îû ¢£öìëy†#“þyëû xÝþœ !›Ÿ˜ šþîû !îû‹%!¦þöì̃ Ÿ˜ xÄyuþ
xyîÅy˜ ÝþÆyªšþîûöì›Ÿ˜ îy AMRUTéôé~îû x•#öì̃  'Jal Diwali–
Water for Women–Women for Water' ˜y›„þ
¢öì‰þ“þ˜“þy x!¦þëyöì̃ îû ¢)‰þ˜y „þîûœÐ

21. (b) !šþvþz‹ “þyöìîûîû ›)œ vþzþ™y”y˜ £œ !Ýþ˜ ç ¢#¢yÐ
22. (a) £y£zöìvÈþy!œ„þ ö²Ìöì¢îû „þyëÅ̃ #!“þ þ™yßþñyöìœîû ¢)e ö›öì̃  ‰þöìœÐ
23. (b) ²ÕyÞÝþyîû xšþ þ™Äy!îûöì¢îû îûy¢yëû!˜„þ ¢‚öì„þ“þ £œ 2CaSo4,

H2OÐ
24. (c) ¢îöì‰þöìëû £yœ„þy ”y£Ä †Äy¢ £œ £y£zöìvÈþyöì‹˜Ð
25. (b) ¢Á±!“þ £#îûyœyœ ¢y›y!îûëûyöì„þ ö¢rÝþÆyœ £z̃ šþîûöì›Ÿ˜ „þ!›Ÿöì̃ îû

!‰þšþ £z̃ šþîûöì›Ÿ˜ „þ!›Ÿ˜yîû !£¢yöìî !˜ë%_« „þîûy £œÐ

26. (c) ö¢y!vþëûy›öì„þ Š%é!îû !”öìëû ¢£öì‹£z „þyÝþy ëyëûÐ
27. (c) ›y˜%öì¡ìîû ö›îû&”öì[þîû x!ßþiîû ¢‚…Äy 33!ÝþÐ
28. (c) 'World Greatest Place of 2023' “þy!œ„þyëû ç!vþüŸyîû

›ëû)îû¦þO ö‹œyîû þ™yŸyþ™y!Ÿ ßþiy˜ öþ™öìëûöìŠé œy”y…Ð

29. (a) öî!˜!vþQ îû¢ ësþf myîûy BMR þ™!îû›yþ™ „þîûy £ëûÐ
30. (c) xî¢îû ö‡y¡ì’y„þyîû# !Ýþ› öþ™£z̃  xöìßþTÉ!œëûyîû ²Ìy_«˜ x!•˜yëû„þ

!Šéöìœ˜Ð

31. (a) òv%þ‚!îûó ›yœ¦)þ!› xMþéöìœ ö”…y ëyëûÐ
32. (b) !“þhßþy ˜”#îû vþzêþ™!_ßþiœ £œ ö‹›% !£›îy£Ð
33. (b) ‰%þ!Áº vþzþ™“þÄ„þy !¢!„þ›éôé¦%þÝþy˜ ¢#›yöìhsþ xî!ßþi“þÐ
34. (d) ç!vþŸyîû ›•Ä !”öìëû „þ„ÅþÝþe«y!hsþ öîû…y ëyëû!˜Ð
35. (c) þ™!Øþ›‡yÝþéôéþ™)îÅ‡yÝþ !›!œ“þ £ëû ˜#œ!†!îû þ™yîÅ“þÄ xMþéöìœéÐ
36. (d) !›öì‹yîûy› ¦%þÝþyöì̃ îû ¢yöìí ¢#›y˜y ßþ™ŸÅ „þöìîû!˜Ð
37. (c) 1923 !…ÊÞÝþyöì· ßþºîûy‹ ”œ †!àþ“þ £ëûÐ ›!“þœyœ ö˜öìýîû& ~î‚

!‰þ_îûO˜ ”y¢ „þ“,Åþ„þ ~£z ”œ ²Ì!“þ!Ûþ“þ £ëûÐ
38. (a) ²Ìí› ¦þyîû“þ#ëû !£¢yöìî ¢öì“þÄw ²Ì¢y” !¢˜£y îöìvþüyœyöìÝþîû

„þyëÅ!˜îÅy£# þ™!îû¡ìöì”îû ¢”¢Ä !˜öìëûy!‹“þ £˜Ð
39. (a) †yõþ#!‹ „þ‚öì@ùÌöì¢îû öîœ†¤yç x!•öìîŸöì̃  ¢¦þyþ™!“þ !˜îÅy!‰þ“þ

£˜Ð 1924 ¢yöìœ ~£z x!•öìîŸ˜ x˜%!Ûþ“þ £öìëû!ŠéœÐ
40. (d) !¦þ. !¦þ. ¢y¦þyîû„þîû ~î‚ †öì’Ÿ ¢y¦þyîû„þîû 1904 ¢yöìœ

x!¦þ˜î ¦þyîû“þ ˜y›„þ !î²Õî# ¢‚ßþiy †àþ˜ „þöìîû̃ Ð

xÄy!‰þ¦þy¢Å



xÄy!‰þ¦þy¢Åî¡ìÅ éôé 11– £z¢%Ä éôé 8  !vþöì¢Áºîû– 20232

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

41. (b) ›)œ•˜éôôôé
A : B : C
1
6 :

1
3 :

1 2
12


:
1 4
12


:
6

12
= 2 : 4 : 6 = 1 : 2 : 3

¢›ëûôôô 
2 4 12: : 2 : 4 :12

12 12 12


œ¦þÄy‚öìŸîû x˜%þ™y“þéôôôé 2 : 8 : 36  = 1 : 4 : 18

B ~îû œ¦þÄy‚Ÿ 
4 2300 4000
23

    Ýþy„þy

42. (a)          

r = x

›öì̃  „þ!îû– ”!vþü!Ýþîû ÷”‡ÅÄ (r) = x !›Ýþyîû
 Ÿ“Åþy˜%¢yöìîû– r2 = 9856

îy– x2 = 9856 × 
7
22  = 448 × 7

îy– x2 = 64 × 7 × 7

îy– x 8 8 7 7    = 8 × 7 = 56 !›Ýþyîû
43. (c) ›öì̃  „þ!îû– xyëû“þ„þyîû öÇþöìeîû îyý=!œîû ÷”‡ÅÄ ëíye«öì› 3x

!›Ýþyîû ç 4x !›Ýþyîû
 öÇþešþœ = 7500 îy– 4x × 3x = 7500

îy– 12x2 = 7500 îy x2 7500
12

  = 625

îy– x 625 = 25
 ÷”‡ÅÄ = 100 !›Ýþyîû– ²Ìßþi = 75 !›Ýþyîû
 þ™!îû¢#›y = 2(100 + 75) = 2 × 175 = 350 !›Ýþyîû
 ö›yÝþ …îû‰þ £öìî = 350 × 2.50 = 875 Ýþy„þy

44. (b) 4 + 3 + * + 8 = 8 + 2 + 7
 15 + * = 17
* = 2
* ~îû ›y˜ = 2

45. (b) 19.36 0.1936 0.001936 0.00001936  

3 4

44 44 44 44
10 100 10 10

   

4

44000 4400 440 44 4.8884
10

  
 

46. (c) 47.2506 = 4A + 
7
B  + 2C + 

5
D + 6E

A = 10, B = 1, C = 0.1, D = 
1

100 = 0.01
E = 0.0001
5A + 3B + 6C + D + 3E
= 50 + 3 + 0.6 + 0.01 + 0.0003 = 53.6003

47. (d) A, B ~î‚ C ~îû œ¦þÄy‚öìŸîû x˜%þ™y“þ £œéôôôé
5200 : 6500 : 7800 = 4 : 5 : 6
A ~îû ›)œ•öì̃ îû þ™!îû›y’ £œéôôôé
4

15 × 37500 = 100000

48. (c) a : b = (3 : 4) × 6  a : b = 18 : 24
b : c = (6 : 5) × 4  b : c = 24 : 20
a : (a + c) = 18 : 38 = 9 : 19

49. (c) ö›yÝþ !”˜ 90 + 2 + 80 = 172  4!Ýþ Odd Day
ö¢y›îyîû – 4 = î,£ßþ™!“þîyîû

50. (b) 22 îyîû
51. (c) A ~îû î,_y„þyîû þ™!îû!• þ™!îûe«›’ „þîûöì“þ ¢›ëû œyöì†

150
10

 = 15 ö¢öì„þuþ

B ~îû î,_y„þyîû þ™!îû!• þ™!îûe«›’ „þîûöì“þ ¢›ëû œyöì†
150
15

 = 10 ö¢öì„þuþ

15 ç 10 ~îû œ¢y= = 30
 30 ö¢öì„þuþ þ™îû “þyöì”îû ²Ìyîû!½þ„þ !î¨%öì“þ ö”…y ëyöìîÐ

52. (b) 50 ç 8 ~îû œ¢y= = 200
200 × 3 = 600 + 3 = 603
(3 !”öìëû !î¦þy‹Ä ç ö„þyöì̃ y ¦þy†öìŸ¡ì íy„þöìî ˜yV

53. (d) öëöì£“%þ îû!îîyîû !”öìëû Öîû& £ëû– ›yöì¢îû ¢î=!œ îû!îîyîû ö›yÝþ
Šéye ¢‚…Äy = 510 × 5 = 2550
x˜Ä!”˜=!œ !›!œöìëû ö›yÝþ ¢‚…Äy = 240 × 25 = 6000

†vþü 6000 2550 8550 285
30 30


   ‹˜

54. (b) 
1 25 25 112 % %
2 2 2 100 8

  


‹œ
”%•

ö›yÝþ !›×’ 1 + 8 = 9 ¦þy†
²ÌÙÀ›öì“þ– 9 ¦þyöì†îû ›)œÄ = 8100 Ýþy„þy
1 ¦þyöì†îû ›)œÄ = 900 Ýþy„þy
”%öì•îû e«ëû›)œÄ = (900 × 8) = 7200 Ýþy„þy

55. (a) 1 : 1 : 2
›)œÄôô 126 + 135 + 2x = 153 × 4
2x = 612 – 261
2x = 351
 x = 175.50

56. (b) !›× ‰þyöìëûîû e«ëû›)œÄ CP
100 250 200
125

  

200

300 175

25 100
1  :  4
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xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

57. (a)

4%

–2% +10%

6 6
1  :  1

2% Çþ!“þöì“þ !‰þ!˜ !î!e« „þöìîûöìŠé̃  = 400 ×
1
2 = 200 ö„þ!‹

58. (a) !îe«ëû›)œÄ = 4000 Ýþy„þy
²Ìí›!Ýþ !î!e« „þöìîû œy¦þ £ëû 25%

 ²Ìí›!Ýþîû e«ëû›)œÄ
1004000
125

  = 3200 Ýþy„þy

²Ìí›!Ýþ !î!e« „þöìîû œy¦þ = (4000 – 3200) = 800 Ýþy„þy
 !m“þ#ëû!Ýþ !î!e« „þîûyîû ¢›ëû 800 Ýþy„þy “þyîû Çþ!“þ £ëû
!m“þ#ëû!Ýþîû e«ëû›)œÄ = (4000 + 800) = 4800 Ýþy„þy

!m“þ#ëû!Ýþ !î!e« „þöìîû Çþ!“þ £ëû
800 2100 16 %
4800 3

  

59. (d) †!“þöìî†  4 : 5
¢›ëû  5 : 4 S†!“þöìî† x : y £öìœ ¢›öìëûîû x˜%þ™y“þ £ëû
y : x)
1 × 18 = 18 S¢›öìëûîû þ™yíÅ„þÄ 1 unit = 18 ²ÌÙÀy˜%¢yöìîûV
öëöì£“%þ ~„þ!Ýþ ö”!îû ç ~„þ!Ýþ xyöì† xyöìŠé xíÅyê 9 !›!˜Ýþ
ö”!îû + 9 !›!˜Ýþ xyöì† = 18 !›!˜ÝþÐ

¢%“þîûy‚ ~…˜ ¢›ëû 5 × 18 = 90 !›!˜Ýþ
90
60

  ‡^ùÝþy

[ 1 unit = 18]

”)îûc = öî† × ¢›ëû = 4 ×
90
60 = 6 !„þöìœy!›Ýþyîû

60. (a) •!îû– öÝþÆ̃ !Ýþîû †!“þöìî† = x !„þ!›/ö¢öì„þuþ
²Ìí› ç !m“þ#ëû îÄ!_«îû ¢yöìþ™öìÇþ öÝþÆ̃ !Ýþîû xyöìþ™!Çþ„þ †!“þöìî†

ëíye«öì› 
5x 3

18
   
 

 ~î‚ 
5x 6

18
   
 

²ÌÙÀ›öì“þ–
5 59 x 10 x
6 3

        
   

 S ”)îûc = †!“þöìî† ×

¢›ëûV

45 50 559x 10x x
6 3 6

     

 öÝþÆ̃ !Ýþîû †!“þöìî† 
55 18
6 5

  = 33 !„þ!›/‡^ùÝþy

61. (a) 12.5 !›!˜Ýþ 
125

10 60



 ‡^ùÝþy

•!îû– †y!vþü!Ýþîû †!“þöìî† = x !„þ!›/‡^ùÝþy

öÝþÆöì̃ îû †!“þöìî† 
150x 3x
100 2

   !„þ!›

²ÌÙÀ›öì“þ–
75 75 125 75 2 2513xx 10 60 x 3 10 122

        

75 25 3 x 120
x 10 12 1

    


 †y!vþü!Ýþîû †!“þöìî† = 120 !„þ!›/‡^ùÝþy
62. (d) •!îû– A „þy‹!Ýþ „þöìîû x !”öì̃

 B ç C ~„þöìe „þy‹!Ýþ „þöìîû x !”öì̃
A ç B ~„þöìe „þy‹!Ýþ „þöìîû 12 !”öì̃  ~î‚ C ~„þy „þy‹!Ýþ
„þöìîû 24 !”öì̃

A, B ç C „þy‹!Ýþ ~„þöìe „þöìîû 
12 24 8

36


   !”öì̃

x x 8
2x


 

x = 16 !”˜
A „þy‹!Ýþ „þöìîû = 16 !”öì̃

B „þy‹!Ýþ ~„þy „þöìîû 
12 16 48

4


   !”öì̃

63. (c) 
3
7 x‚Ÿ þ™)’Å „þöìîû 36 !›!˜öìÝþ

1 x‚Ÿ þ™)’Å „þöìîû 
36 7

3


 !›!˜öìÝþ

5
12 x‚Ÿ þ™)’Å „þöìîû 

36 7 5
3 12
 


= 35 !›!˜öìÝþ

64. (b) •!îû– ²Ìí› ¦þyöì†îû ‹˜Ä x Ýþy„þy ~î‚ !m“þ#ëû ¦þyöì†îû ‹˜Ä
(2100 – x) Ýþy„þy !î!˜öìëûy† „þöìîûÐ

x 6 4 (2100 x) 9 2
100 100
    



 24x = (2100 – x)18  7x = 6300
 x = 900
 !m“þ#ëû ¦þyöì† ›)œ•öì̃ îû þ™!îû›y’ = (2100 – 900)

         = 1200 Ýþy„þy
65. (a) •!îû– ²Ìí› öŠéöìœîû ˜yöì› x Ýþy„þy ç !m“þ#ëû öŠéöìœîû ˜yöì› y

Ýþy„þy îÄyöìBþ ‹›y îûy…öìœ˜
5 74 4x 1 y 1

100 100
          
   

2 2 2x 4 104 261
y 100 100 25

             
     

x 676
y 625


 ²Ìí› öŠéöìœ ç !m“þ#ëû öŠéöìœîû ˜yöì› þ™!îû›y’ Ýþy„þy ‹›y
îûyöì… “þyîû x˜%þ™y“þ 676 : 625



xÄy!‰þ¦þy¢Åî¡ìÅ éôé 11– £z¢%Ä éôé 8  !vþöì¢Áºîû– 20234

——————

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

 ²Ìí› öŠéöìœîû ˜yöì› ‹›y îûyöì…
6762602 1352

(676 625)
  


 Ýþy„þy

66. (a)        

 î,öì_îû îÄy¢y•Å r = 2 ö¢!›
 þ™!îû!œ!…“þ î†ÅöìÇþöìeîû îyý = 2 × 2 = 4 ö¢!›
ç xhsþƒ!œ!…“þ î†ÅöìÇþöìeîû îyý = 2 × 2 = 22 ö¢!›
 þ™!îû!œ!…“þ ç xhsþƒ!œ!…“þ î†ÅöìÇþöìeîû öÇþešþöìœîû x˜%þ™y“þ
= 42  : (22)2 = 16 : 8 = 2 : 1

67. (b) 3 1 5P 1 1 1 2249.52
100 100 100

                
     

îy– 
103 104 105P 2249.52
100 100 100

   

îy– 2249.52 100 100 100P
103 104 105

  


 
P = 2000

68. (d) ›öì̃  „þ!îû– A ˜œ!Ýþ þ™)’Å „þöìîû x !›!˜öìÝþ
 B ˜œ þ™)’Å „þöìîû (x + 16) !›!˜öìÝþ
 A ˜œ B xöìþ™Çþy 3 =’ Çþ›“þy¢Á™§¬ xíÅyê

1 1 1 33
x (x 16) x x 16
  

 

 3x = x + 16  x = 8
 A ̃ œ ~„þy þ™)’Å „þöìîû 8 !›!˜öìÝþ ç B ̃ œ ~„þy þ™)’Å „þöìîû
8(16 + 8) = 24 !›!˜öìÝþ
 A ç B ~„þöìe 1 !›!˜öìÝþ þ™)’Å „þöìîû

1 1 3 1 4 1
8 24 24 24 6


     x‚Ÿ

 A ç B ~„þöìe þ™)’Å „þöìîû = 6 !›!˜öìÝþ
69. (a) ö›yÝþ „þy‹ = 6

P ç Q ~„þ!”öì̃  ëíye«öì› 3!Ýþ ç 2!Ýþ „þy‹ „þöìîûÐ
P + Q ~„þöìe ~„þ!”öì̃  „þy‹ „þöìîû (3 + 2) = 5!Ýþ

~„þ!Ýþ „þyöì‹îû ‹˜Ä “þyîûy ›‹%îû# þ™yëû 
6000

5


           = 1200 Ýþy„þy

 P ~îû ›‹%îû#îû 20% = 3600 × 
20

100 = 720 Ýþy„þy

70. (d) x˜%„)þöìœîû †!“þöìî† = (10 + 5) = 15 !„þ!›/‡^ùÝþy
²Ì!“þ„)þöìœîû †!“þöìî† = (10 – 5) = 5 !„þ!›/‡^ùÝþy
ößþËyöì“þîû x˜%„)þöìœ 60 !„þöìœy!›Ýþyîû öëöì“þ ¢›ëû œyöì†
= 60/15 = 4 ‡^ùÝþy

71. (c) To
72. (a) Oh
73. (a) Vodka
74. (a) Sorry
75. (b) Masum said, "My father is playing cricket with

me."
76. (c) Let the towel the thrown.
77. (b) among those who support the installation and
78. (d) Bouquet
79. (d) QRPS
80. (d) Stop
81. (b) deaf
82. (c) Strength
83. (d) cheerful
84. (c) eroded
85. (b) effective
86. (d) are practicing very hard
87. (b) Secret
88. (a) The girl takes biscuits everyday.
89. (a) Jimmy and I went home.
90. (a) Towards
91. (c) because of
92. (b) encounter difficulties
93. (b) Have
94. (b) fluency of speech
95. (b) gave away
96. (c) having written
97. (c) who
98. (b) abuse
99. (b) sails
100. (a) Mandatary


